Code Generation Example
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example: x = x +y*7
Qoo

L/R: L 0 Bin0p()

Var: X
L/R: L 0 BinOP()
Var: X
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Qoo

L/R: L 0 Bin0p()

Var: X
L/R: L 0 BinOP()
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example: x =x +y*7
Csomer

L/R: L 0 BinOp(+)
Var: X
L/R: R
L/R: L 0 Tmp: r2
Var: X Code:

lw rl, 9x4000(ro)
muli r2, rl, 7

L/R: L » @ \I7/I% 5
Var: vy al:




example: x = x +y*7

L/R: R
Tmp: r4

Code:

w r3, 0x4004(ro)
lw rl, 0x4000(ro)
muli r2, rl, 7
add r4, r3, r2
Tmp:
Code:

lw rl, 0x4000(ro)
muli r2, rl, 7

r2




example: x = x +y*7

L/R: —

Tmp: -

Code:

lw r3, 0x4004(ro0)

lw rl, 0x4000(ro)
muli r2, rl, 7
add r4, r3, r2
sw r4, 0x4004(r0)

BinOp(+)

L/R: R

Tmp: r4

Code:

lw r3, 0x4004(ro0)

lw rl, 0x4000(ro)
muli r2, rl, 7
add r4, r3, r2

BinOp(*)



next: control structures



